
DETERMINANTY

Veškeré příklady jsou ze zkouškových variant.

1. Výpočet determinantů matic

Zadání Výsledky

1) A =

∣∣∣∣∣∣∣∣∣∣
0 0 −1 3

0 1 3 5

−1 3 −5 0

3 5 0 0

∣∣∣∣∣∣∣∣∣∣
1X Determinant A = 241

2) B =

∣∣∣∣∣∣∣∣∣∣
3 1 0 1

2 −1 1 2

−1 1 2 1

1 0 1 2

∣∣∣∣∣∣∣∣∣∣
2X Determinant B = −10

3) C =

∣∣∣∣∣∣∣∣∣∣∣∣∣

3 2 3 −1 1

0 −2 0 1 2

−3 1 0 2 −1

0 2 0 3 −2

3 1 0 −2 1

∣∣∣∣∣∣∣∣∣∣∣∣∣
3X Determinant C = −144

4) D =

∣∣∣∣∣∣∣∣∣∣
2 3 0 0

1 2 3 0

0 1 2 3

0 0 1 2

∣∣∣∣∣∣∣∣∣∣
4X Determinant D = −11

5) E =

∣∣∣∣∣∣∣∣∣∣
1 5 0 0

3 1 5 0

0 3 1 5

0 0 3 1

∣∣∣∣∣∣∣∣∣∣
5X Determinant E = 181

6) F =

∣∣∣∣∣∣∣∣∣∣
3 5 0 0

1 3 −5 0

0 −1 3 5

0 0 1 3

∣∣∣∣∣∣∣∣∣∣
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2. Rovnice s determinanty

(1)

∣∣∣∣∣∣∣∣∣∣
2 1 −3 1

0 x 1 2

−2 −1 3 1

0 2 −1 3

∣∣∣∣∣∣∣∣∣∣
= 3x+ 1

(2)

∣∣∣∣∣∣∣∣
2 −1 1

4 x 2

x+ 2 3 1

∣∣∣∣∣∣∣∣ =
∣∣∣∣∣ x 1

−4 −x

∣∣∣∣∣

(3)

∣∣∣∣∣∣∣∣
7 −3 1

1 x −2

−2 5 −1

∣∣∣∣∣∣∣∣ = 3x

(4)

∣∣∣∣∣∣∣∣
3 x −2

0 2 3

1 x 1

∣∣∣∣∣∣∣∣ =
∣∣∣∣∣ x 2

5 x

∣∣∣∣∣+ 25
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